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1
Decision/action requested

Agree on minor update for the Throughput KPI.
2
References

[1] 3GPP TS 32.450 V0.2.0 - Key Performance Indicators (KPI) for E-UTRAN: Definitions
3
Rationale

Objective:  
· Minor update to the definition of Throughput KPI. To remove one special case that can negatively impact the measurement (eventhough it does not impact the end-user negatively).
· Note that the change can be a bit hard to notice. The change is in figure 1, text box upper right corner.

4
Detailed explanation

[image: image1]
To see the impact in a different format, the Throughput is calculated for B&C samples:
Throughput B = X Byte / 1 TTI

Throughput C = (X+Y) Byte / 1 TTI

Hence, unless sample B is excluded from Throughput calculations, these cases will negatively impact the Throughput KPI, eventhough they do not impact the end-user negatively in any way.

5
Detailed proposal
It is proposed that the change marked text is changed in the specification. The change is in figure one.
New text in Figure 1: The last data unit TTI shall always be removed from calculations since it can be impacted by packet size of User Plane (UP) packets.

Original text in Figure 1: The last data unit underfills the Uu slot and is therefore not included in the throughput measure.
6.3.1.2
Extended definition

To achieve a Throughput measurement that is independent of file size it is important to remove the samples where one TTI on the radio interface is not utilized. (Successful transmission, buffer empty in figure below).
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Figure 1
To achieve a throughput measurement that is independent of bursty traffic pattern, it is important to make sure that idle gaps between incoming data is not included in the measurements. That shall be done as considering each burst of data as one sample.

V_tp_DL is the volume on IP level and the T_tp_DL is the time elapsed on Uu for transmission of the volume included in V_tp_DL.
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Since services can be mapped towards different kind of EPS bearers, the IP Throughput measure shall be available per QoS group.[image: image6.png]
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This sample will negatively impact the Throughput measurement, since it might be filled up by the MAC PDU padding bits due to lack of size on S1-UP (this does however not impact the end-user negatively).
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